**IPROPOSAL NO.: FP/MH/ROAD/34047/2018** Proposal for Forest Diversion of 383.8535 Ha under Forest (Conservation) Act, 1980 for construction of Package – V (78 Km) of Nagpur – Mumbai Expressway passing through West Nashik, Shahapur and Thane Forest Divisions from Village Taranganpada of Taluka Igatpuri in District Nashik to Village Amane of Taluka Bhiwandi in District Thane

Section:	VII
Page No.:	VII/76

### **CERTIFICATE: 11**

# Net Present Value Certificate must be marked with eco-class / category of forest as per the GOI letter F. No. 5-3/2007-FC, Dt. 05/02/2009 by Deputy Conservator of Forest cum Nodal Officer

This is to certify that construction of Package – V of Nagpur – Mumbai Expressway passing through West Nashik, Shahapur and Thane Forest Divisions from Village Taranganpada of Taluka Igatpuri in District Nashik to Village Amane, of Taluka Bhiwandi in District Thane of 78 Km falls in ECO-value class, Category and Density as tabulated below:

Sr. No.	Forest Division	ECO value class	Category	Density	Area to acquire (in Ha)	NPV (per Ha)	Amount (in Rs.)
1.	West Nashik (RF)	III	Open Forest	< 0.4	39.177	6,26,000/-	2,45,24,802/-
2	Shahapur (RF+PF+FAF)	I	Dense Forest	< 0.4	250.0217	9,39,000/-	23,47,70,376/-
2.	Shahapur (RPF+PEPF)	I	Open Forest	< 0.2	67.8269	7,30,000/-	4,95,13,637/-
3.	Thane (PF+FAF)	I	Dense Forest	< 0.4	14.4228	9,39,000/-	1,35,43,009/-
	Thane (PEPF)	I	Open Forest	< 0.2	12.4051	7,30,000/-	90,55,723/-
				Total	383.8535		33,14,07,547/-

RF: Reserved Forest, PF: Protected Forest, FAF: Finally Acquired Forest, RPF: Restored Private Forest, PEPF: Pending Enquiry Private Forest

Date: 01/07/2018

Place: Mumbai

(S. V. Abhang)

Executive Engineer, Package – V Maharashtra State Road Development Corporation Limited, Bandra Office, Mumbai

> Executive Engineer M.S.R.D.C. (Ltd.), Mumbai

> > (D. P. Nikam)

Deputy Conservator of Forest, and

Nodal Officer of Package – V Shahapur Forest Division, Shahapur

Dy Conservator of Forests Shahapur Forest Division, Shah ip ir

Date: 01/07/2018 Place: Shahapur



[PROPOSAL NO.: FP/MH/ROAD/34047/2018] Proposal for Forest Diversion of 383.8535 Ha under Forest (Conservation) Act, 1980 for construction of Package – V (78 Km) of Nagpur – Mumbai Expressway passing through West Nashik, Shahapur and Thane Forest Divisions from Village Taranganpada of Taluka Igatpuri in District Nashik to Village Amane of Taluka Bhiwandi in District Thane

Section:	VII		
Page No.:	VII/78		

### **CERTIFICATE: 11**

## Net Present Value Certificate must be marked with eco-class / category of forest as per the GOI letter F. No. 5-3/2007-FC, Dt. 05/02/2009

## (for West Nashik Forest Division, Nashik)

This is to certify that construction of Package – V of Nagpur – Mumbai Expressway passing through West Nashik, Shahapur and Thane Forest Divisions from Village Taranganpada of Taluka Igatpuri in District Nashik to Village Amane, of Taluka Bhiwandi in District Thane of 78 Km falls in ECO-value class, Category and Density as tabulated below:

Sr. No.	Forest Division	ECO value class	Category	Density	Area to acquire (in Ha)	NPV (per Ha)	Amount (in Rs.)
1.	West Nashik	III	Open Forest	< 0.4	39.177	6,26,000/-	2,45,24,802/-
				Total	39.177		2,45,24,802/-

Date: 01/07/2018

Place: Mumbai

(S. V. Abhang)

M.S.F. O.C. (1.1)

Executive Engineer, Package – V Maharashtra State Road Development Corporation Limited, Bandra Office, Mumbai

Date: 01/07/2018

Place: Nashik



(T. Beula Ezhil Mathi)
Deputy Conservator of Forest,
West Nashik Forest Division, Nashik

Deputy Conservator of Forests West Nashik



[PROPOSAL NO.: FP/MH/ROAD/34047/2018] Proposal for Forest Diversion of 383.8535 Ha under Forest (Conservation) Act, 1980 for construction of Package - V (78 Km) of Nagpur - Mumbai Expressway passing through West Nashik, Shahapur and Thane Forest Divisions from Village Taranganpada of Taluka Igatpuri in District Nashik to Village Amane of Taluka Bhiwandi in District Thane

Section:	VII		
Page No.:	VII/80		

## **CERTIFICATE: 11**

## Net Present Value Certificate must be marked with eco-class / category of forest as per the GOI letter F. No. 5-3/2007-FC, Dt. 05/02/2009

## (for Shahapur Forest Division, Shahapur)

This is to certify that construction of Package - V of Nagpur - Mumbai Expressway passing through West Nashik, Shahapur and Thane Forest Divisions from Village Taranganpada of Taluka Igatpuri in District Nashik to Village Amane, of Taluka Bhiwandi in District Thane of 78 Km falls in ECO-value class, Category and Density as tabulated below:

Sr. No.	Forest Division	ECO value class	Category	Density	Area to acquire (in Ha)	NPV (per Ha)	Amount (in Rs.)
1.	Shahapur (RF+PF+FAF)	I	Dense Forest	< 0.4	250.0217	9,39,000/-	23,47,70,376/-
	Shahapur (RPF+PEPF)	I	Open Forest	< 0.2	67.8269	7,30,000/-	4,95,13,637/-
				Total	317.8486		28,42,84,013/-

RF: Reserved Forest, PF: Protected Forest, FAF: Finally Acquired Forest, RPF: Restored Private Forest, PEPF: Pending Enquiry Private Forest

Date: 01/07/2018

Place: Mumbai

Executive Engineer, Package – V Maharashtra State Road Development

Corporation Limited, Bandra Office, Bandra

(S. V. Abhang)

**Executive Engineer** M.S.P.D.C. (Ltd.), Mumbai

Date: 01/07/2018 Place: Shahapur

(D. P. Nikam)

Deputy Conservator of Forest, Shahapur Forest Division, Shahapur Dy Conservator of Forests Shahapur Forest Division, Shah ip ir



[PROPOSAL NO.: FP/MH/ROAD/34047/2018] Proposal for Forest Diversion of 383.8535 Ha under Forest (Conservation) Act, 1980 for construction of Package – V (78 Km) of Nagpur – Mumbai Expressway passing through West Nashik, Shahapur and Thane Forest Divisions from Village Taranganpada of Taluka Igatpuri in District Nashik to Village Amane of Taluka Bhiwandi in District Thane

Section:	VII		
Page No.:	VII/82		

## **CERTIFICATE: 11**

## Net Present Value Certificate must be marked with eco-class / category of forest as per the GOI letter F. No. 5-3/2007-FC, Dt. 05/02/2009

### (for Thane Forest Division, Thane)

This is to certify that construction of Package – V of Nagpur – Mumbai Expressway passing through West Nashik, Shahapur and Thane Forest Divisions from Village Taranganpada of Taluka Igatpuri in District Nashik to Village Amane, of Taluka Bhiwandi in District Thane of 78 Km falls in ECO-value class, Category and Density as tabulated below:

Sr. No.	Forest Division	ECO value class	Category	Density	Area to acquire (in Ha)	NPV (per Ha)	Amount (in Rs.)
1.	Thane (PF+FAF)	I	Dense Forest	< 0.4	14.4228	9,39,000/-	1,35,43,009/-
	Thane (PEPF)	I	Open Forest	< 0.2	12.4051	7,30,000/-	90,55,723/-
				Total	26.8279		2,25,98,732/-

PF: Protected Forest, FAF: Finally Acquired Forest, PEPF: Pending Inquiry Private Forest

Date: 01/07/2018 Place: Mumbai

A DC LLO. WING WING

Date: 01/07/2018

Place: Than

(S. V. Abhang)

Executive Engineer, Package – V Maharashtra State Road Development Corporation Limited, Bandra Office, Bandra

Executive Engineer
M.S.R.D.C. (Ltd.), Mumbai

(J.SRamgaonkar)

Deputy Conservator of Forest, Thane Forest Division, Thane

Deputy Conservator of Forests. Thane Forest Division, Thane.

